

## Quiz 10

**(5pts.)** 1. Solve the equation for  $y(t)$ :

$$y(t) = 2 - \int_0^t y(\tau) e^{t-\tau} d\tau.$$

$$= 2 - \underline{y * e^t} \quad (+1)$$

$$\begin{aligned} (+1) \quad Y(s) &= \mathcal{L}\{2\} - \mathcal{L}\{y * e^t\} \\ &= \frac{2}{s} - Y(s) \frac{1}{s-1} \end{aligned}$$

$$\Rightarrow Y(s) \left(1 + \frac{1}{s-1}\right) = \frac{2}{s}$$

$$\Rightarrow \frac{s}{s-1} Y(s) = \frac{2}{s} \Rightarrow$$

$$Y(s) = \frac{2(s-1)}{s^2} \quad (+1.5)$$

$$Y(s) = \frac{2}{s} - \frac{2}{s^2} \Rightarrow y(t) = \mathcal{L}^{-1}\left\{\frac{2}{s} - \frac{2}{s^2}\right\} = 2 - 2t$$

$$y(t) = 2 - 2t \quad (+1.5)$$

**(5pts.)** 2. Solve the equation for  $y(t)$ :  $y'' + 5y' + 6y = \delta(t-1)$ ;  $y(0) = 0, y'(0) = 0$ .

$$(+1) \quad s^2 Y(s) + 5sY(s) + 6Y(s) = e^{-s}$$

$$(s^2 + 5s + 6) Y(s) = e^{-s} \Rightarrow Y(s) = \frac{e^{-s}}{s^2 + 5s + 6} \quad (+1)$$

$$\frac{1}{s^2 + 5s + 6} = \frac{1}{(s+2)(s+3)}$$

$$= \frac{(s+3) - (s+2)}{(s+2)(s+3)}$$

$$= \frac{1}{s+2} - \frac{1}{s+3}$$

$$(+1) \quad \mathcal{L}^{-1}\left\{\frac{1}{s^2 + 5s + 6}\right\} = e^{-2t} - e^{-3t} \quad (+1)$$

$$y(t) = \mathcal{L}^{-1}\left\{\frac{e^{-s}}{s^2 + 5s + 6}\right\}$$

$$= \mathcal{L}^{-1}\left\{\frac{1}{s^2 + 5s + 6}\right\} \Big|_{t \rightarrow t-1} u_1(t)$$

$$= (e^{-2t+2} - e^{-3t+3}) u_1(t). \quad (+1)$$

Quiz 10

(5 pts) 1. Solve the equation for  $y(t)$ :

$$y(t) = t + \int_0^t y(\tau) \sin(t-\tau) d\tau.$$

$$= t + \underline{y * \sin(t)}$$

(+1)  $Y(s) = \mathcal{L}\{t\} + \mathcal{L}\{y * \sin(t)\}$

$$= \frac{1}{s^2} + Y(s) \frac{1}{s^2+1} \Rightarrow \left(1 - \frac{1}{s^2+1}\right) Y(s) = \frac{1}{s^2}$$

$$\Rightarrow \frac{s^2}{s^2+1} Y(s) = \frac{1}{s^2} \Rightarrow Y(s) = \frac{s^2+1}{s^4}$$

$$Y(s) = \frac{1}{s^2} + \frac{1}{s^4} \Rightarrow y(t) = \mathcal{L}^{-1}\left\{\frac{1}{s^2} + \frac{1}{s^4}\right\} = t + \frac{1}{3!} t^3$$

$$y(t) = t + \frac{1}{6} t^3$$

(5 pts) 2. Solve the equation for  $y(t)$ :

$$y'' + 2y' = \delta(t-1); y(0) = 0; y'(0) = 1.$$

(+1)  $s^2 Y(s) - 1 + 2s Y(s) = e^{-s}$

$$(s^2 + 2s) Y(s) = e^{-s} + 1 \Rightarrow Y(s) = \frac{1}{s^2+2s} + \frac{e^{-s}}{s^2+2s}$$

$$\frac{1}{s^2+2s} = \frac{1}{s(s+2)} = \frac{1}{2} \frac{(s+2) - s}{s(s+2)}$$

$$= \frac{1}{2} \left( \frac{1}{s} - \frac{1}{s+2} \right)$$

(+1)  $\mathcal{L}^{-1}\left\{\frac{1}{s^2+2s}\right\} = \frac{1}{2} - \frac{1}{2} e^{-2t}$

$$y(t) = \mathcal{L}^{-1}\left\{\frac{1}{s^2+2s}\right\} + \mathcal{L}^{-1}\left\{\frac{1}{s^2+2s}\right\} \Big|_{t \rightarrow t-1} u_1(t)$$

$$= \frac{1}{2} - \frac{1}{2} e^{-2t} + \left( \frac{1}{2} - \frac{1}{2} e^{-2t+2} \right) u_1(t)$$

(+1)

(+1)